2 (G 2 B

OtpuniatenbHbie IKCIOHEHTHI 10

Umsa:
—2x10° =

693, 7+ 1073 =
4x10=

1004 =

1% 10 =

836,3 x 1002 =
477,2 x 1009 =
9x10° =

364,7 x 1003 =

226,9+ 10" =

Jara: Orenka:

100D =
265,3+ 1001 =
9% 100 =
100D =

1002 =

1004 =

1003 =

1009 =

1002 =

169,2 x 10? =
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= n = S0 OtpuriarensHbie SKCIOHEHTHI 10

Uwvst: Jlata: __ Ouenka: ____
—2x10°=-2 1079 = 0.1
693,7 + 10 = 693700 265,3 + 107" = 2653
4% 10 =40 —2x 107 = —0.0002
107 = 0.0001 1079 = 0.1
1 x 10> = 100 1072 = 0.01
836,3 x 107 = 8.363 107 = 0.0001
477,2 x 10°% = 0.04772 107 = 0.001
9x10°=9 107% = 0.0001
364,7 x 107%) = 0.3647 1072 = 0.01
226,9 + 107 = 226900 169, 2 x 10> = 16920
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